Errors and algorithms in multiplication or division name:
For each problem, analyze what the student is doing, do the next 2 computations the way the student
would do them, and then explain.
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Explain the pattern, and why it works or doesn’t work.
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Explain the pattern, and why it works or doesn’t work.
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Explain the pattern, and why it works or doesn’t work.
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Explain the pattern, and why it works or doesn’t work.
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Explain the pattern, and why it works or doesn’t work.
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Explain the pattern, and why it works or doesn’t work.
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